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Instructions :

i)

i)

63562

This question paper is divided into two
Parts A & B. Attempt all the questions
of each part together at one place. Each
part should be attempted on a new
page.

Marks allotted for each question are
mentioned against it.

This question paper contains four types
of questions — Multiple-choice fj’pC.
Very Short Answer type, Short Answer
type and Long Answer type. Instructions
have been given at the beginning of
each type of question.
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iv) Attach firmly the supplied maps for
Parts ~ 4 g B to your answer-hook.

v) For vision-impaired cXaminecs
Question Ng. 14 in Part-A and Question
No. 28 in Part-B have been given
separately for writing answers in lieu of
map work, '

g - &
PART - A

( agfaEedta 9 )

( Multiple Choice Type Questions )

filw : ftfothaa fomedl § ¥ W& I T

o Ier-gRae 7 fefa

e
Instruction: Choose the correct answer from th

given alternatives and write in your
answer-book :

1 oy Afeet gRr wfE 9 €T 9

%) o1 et @) oW

M) AT q) T ST 1
The secret .o{ganization founded by
Giuseppe Mazzini was

a) Young Italy

b) Young France -

c) Young Prussia

d) Young Germany. 1
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> Wi H wif gd o

®) 1770 1 g) 17894

M 1795 & u) 1815H]
2. French Revolution took place in

a) 1770 b) 1789

¢ 1795 d 1815 I
3. TR ' o & o €

%) TER ©w @) o TR e

T HErET T ) EN 9% 995 1
3. Who is the author of the book 'Hind

Swaraj' ? '

a) Sardar Patel]

b) Bal Gangadhar Tilak

c) Mahatma Gandhi

d) Subhash Chandra Bose. 1
4. W {9ugg Wiy g o

%) 1910H @) 1911 7%

T 1914"% = ®) 19207 1
4. First World War started in

a) 1910 b} 1911

c) 1914 d) 1920. l
S. Tl get | Weifu oo 7 &

%) foren §) W

M IFfuER q) forvl amet »
5. Which subject does not belong to

Concyrrent list ?

4)  Education b} Forest

¢} Succession d) Foregn Affairs. |
f.i35f32
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m &
According to ¢
language of India 15

constitution the official

Urdu
a) Hindi . ,
c) Sanskrit d) English.
( aifiy g T W)

( Very Short Answer TYP® Questions }

‘Yo g e (ﬂﬂq@ﬂﬂﬁggmﬂ?!ﬁ)
el AT & ? o
Who are called 'Bretton Woods Twins ?1 o1

1+1

7.
g @ 3R Py gE # M A E 2 l;ii
8 What is meant Dby free and lfl

election ? . )
o, ey % gne w1 GAaE & 2 o
9. What are the challenges agﬂlnsz

democracy ?

( T I 0 )
( Short Answer Type Questions ) |

10. WRAlG seferaEn W HeMa & fet dH wrfﬁ

T Jooi@ i - 141+1

AT

s I3H T H R I § ) T R

" 14+ 13
63562 CY S [ Nurm over

825(CC) 6

10.

11.

11.

Mention any three effects of the Great
Depression on the Indian Economy.

1+1+1
OR _

What is meant by the Bretton Wood
Agfeement_? What was its purpose ? 13+ 13

e fre R e, mder ol Ay ER

® TS FIAT R ? 1+1+1
Fqat

dFAs R fufrsl & omfas fafawar =)

A & 2 3

How does democracy organise am
accountable, responsive and legitimate

government ? 1+1+1
OR
What are the conditions under which
democracies accommodate social
diversities ? 3
( i I wwr )
( Long Answer Type Questions )
‘R g R A F I 2 6
QT
TR B} =IeH R T Wy Frey feif@e) 6
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Whal were the main €AUSes of riging of

nattonalism in India 7 &

OR
Write a short ¢ss&y on  Quit India
movement, 6
13, dER F M ¢ 7 6
Faxn

'mmqmuﬂﬁm&ﬂtl'ﬁ?hwumﬂ*
AR W W PR 2+2+2
13. What is meant by Federalism ? . 6

OR _
'India is a seculéu‘ country.' Explain on the
basis of any three provisions. 2+ 2+2

( W qE 0 )

( Map Work )
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wstruction @ In

ii)

1)

)

14. i)

3 SH2 "

8

he given outline map of Indiz
locate the following places by the

symbol @ with names. For correct

mention of name and location
1} marks have been allotted.

: 7%z
g =M W RERR, 1920 # FUE H
Ffyav= Al 1+3
& wm @ g e sl w1 OaEE
e T 3+3
9% ©H WEl 1927  wEAE W ST
g3 3+3
5% ™ SR q g e e IR
gal| 1+3
The place where the Jallianwala Bagh
Massacre took place. 1+3
The place where Congress session was
held in December 1920. 1+3
The place where Cotton Mill Workers’
Satyagraha was organized. ; +3
The place where Congress session was
held in 1927. 3+ 3

The place from where Civil
Disobedience movement started. 3+ %

@0l
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( *am Thogrfra aftarbm & e
gy wrd & fawed * ®=qd)
( Oaly for vi‘“."r_lmpliﬂll examinees iP

foadwr - liey of Map work ) |
e S J7 R Fad-ffeas o AT

Tty *1 g A If AT | ;
struction - Write the answers of the l’ollowﬁﬁ
questions in your answer-book-
not use map.

14. i) iferdiaen amm geamHTTS HET § 2
ii) Ramr, 1900 § wW w1 ey
g3 2

1

3

1

' 7
ifi) G Tt s 1 GeATE FE o !
iv) 1927 & widw @1 e Fel g ? ]

1

v) Wl s aTRIeE W § A g 7
14. i) Where did the Jallianwala Bagll1

Massacre take place ? _
iij Where did the Congress session held 1n

December 1920 ? 1,
iiij Where was Cotton Mill Workers

Satyagraha started ? 1

jv) Where did the Congress session held in
1927 7 1

v) From where did Civil Disobedience
movement start ? 1
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( Muitiple Choice TYP® Questions
flw : Prfeifaa fooedl & ¥ T S e s
IR-yRa o fefay -
Instruction : Choose the CPﬁECt answer from the
following options and write in your

answer book.
15. f=ifeaa & @ #7 @ @t arem )
F) A g) JA9H
M AR °) dEn 1
15. Which of the following is a basic
mineral ?

a) Manganese b} Mica
¢) Iron ore d} Copper. 1
16. frfefaa & & S9-T1 Fot o TOREE @ § 2

F) GR ®) g
M g e u)  wgRd 1

16. Which of the following is the conventional
Source of energy ?

) Solarenergy b) Coal
¢} Wind energy d) Tidal enersy:

03562 ool
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b a?; By ) T Htetign 1 g e
&) 1986 3 ) 19954

m) 2001 & o) 2004 ®) 1

17. In which of the following years World Trad¢
Organisation was established ?

a) 1986 b) 1995
€}  200; d) 2004. !
18. R F A1y fyeeq w1 TG el Ty 7 7
%) 1950 - @) 1953
T 1960 - g) 1998. :
18. When was Indian Airways nationalized ?
a) 1950 b) 1953 y
¢} 1960 d) 1998.

19. ﬁf’?ﬁa@ﬁﬁﬁmﬁwﬁﬁ%ﬂ@ﬁﬁﬂ“’m

forar ST & 2
&) HUE g) W
M e ) W

19. Which of the following minerals is used in

1

manufacturing steel ?

a) Mica b) Manganese
c) Copper d) Bauxite. 1
o0l - [Turn over
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20. Ffafgs § @ uwa W@ ®1 @ fqE HTT

A § 2

%) IH qg) WA

M S HEFHA  H) el TZAaH | lf
20. Which of the following is the main import O

India ?

a) Tea

b) Foodgrains

c) Jute goods

d) Crude petroleum. 1

( fy Ty AT W)

( Very Short Answer Type Questions )

Ql_m(ﬁm)_agﬁ;w%?mﬁnﬁww

T ? 1+1

21. What ére Border roads ? Who controls their
construction ? 1+1

2

99, J4fiE0T § ST T T € 2

22. What do you understand by globalization ?
03, JevieT & Fpet @Y STuaR] O i

23. Mention any two rights of consumer.

63562

2

1+1
1+1
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lshort Answer Type Questions )
qhmm%aﬁﬁ?ﬁ#mwl 1+1+1!
Faan '
AN Frator 3 STavaEA ¥4 ggd & 2 39 &9
TR 2V I gamu) 142

24. Suggest any three measures to check 50l
erosion. 141+1

OR

24,

Why is resource planning necessary °
Suggest any two measures for it. 1+2

25. UM 3 i &q #E @ 3T gERT)

1+1+1
RYar

oy 70 R A & K A 3T e

1+1+1
25. Suggest any three measures for an increase
in the national income. 1+1+1

OR

Suggest any three measures

mortality rate. to check infant

1*’1+1

[ T'-U'n Over
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( Long Answer Type Questions )
26. YR § wfg Pam & W@ W @ b
Hifg | 6
Aqdi
A & IR 3 IE e awme #
fadem sife oo wra d§ wq@ saRd & W

W 1w | 3+3

26. Discuss the main land use patterns in

India. 6
OR

Discuss  the suitable  geographical
conditions for the cultivation of rice and

throw light on main producing areas in

India. ) 3+3
27. WA wd fidias 6 @i favivared @t faeeEr
FITT | 3+3
HAYar
wnfed dFe & wfirl w el @ fedE
U | 6
27. Discuss the characteristics of primary and
secondary sectors. 3+3
OR
Discuss the problems of the labourers of the
unorganized sector. 6
h3562 (1)
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( wrafars w1 )
) ( Map Work )
fea m Wiq & wrfad ° bt #

W :

Instruction:  Show the following on the give?

28. i)

i)

map of India.

e F e @) fae g A ated |
1+2

faeT g %*’1‘

| IR 1 9@ &

i) Y T St v A\ foe TR A e

iv)

28. i)

63562

y+
aeft A s e grT A AR 41
e oy (X foee grr A Wl 41
The capital of Rajasthan by sign @
with name. j+3
Main tea producing area by sign @

343
Any atomic energy centre by sign A
with name. j+1
The river Tapti by sign > with name.

1+
Hirakud dam b}? S].g'n E with name.,

1+

0]
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wshiuction : Write answers of the following

28. 1)

v
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fi 562

questions in YOUr answer poor o
not use the map.

Wﬁwﬁaﬂmfﬂ‘f@m 1
fodt v W@ 99 IEF &5 wr 3m
fofEm 1
fordt oy Seetl % 1 T feflay 1
el 7t v g W e 1
?meﬁﬁﬁﬂﬁmqﬁwm%? 1
Write the name of the capital of

Rajasthan. 1
Write the name of any main tea

producing area. 1_
Write the name of any atomic energy

cenftre. 1

In which sea does the river Tapti fall ?
1

On which river is Hirakud dam
located ? 1
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